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1. AACD~A DCB

— CD =\ACxBC =[2(11+21) =22+ 2421 =1+21~1+4.6 =56, HI%(2) .
2. (1)90° <@ <135°HF, sinf+cosd> 0, {H135° <O <180°HF, sind+cosf< C.

(2)90° < @ <180°HF, sind>0, tand<0=sind—tand>0 .

(3) cos(180°—@) =—cos@ .  (4)sin(540°+6) =sin(180°+6) =—sin@ .

Zsingcosg sing
1+cosé@ 2 COSZ E CcoS — 2 2

W HH Q)R KL -
3. DA fR-1)=0=>%x=2-i=>x-2=—=x"-4x+5=0 .
QO E f(l+i)=0=>% x=1+i=>x-1=i=>x"-2x+2=0 .
®FER F(X) =(X* —4x+5)(X* —=2x+2) =[(X* =x+1) + (=3x+ DJ[(X* = x+1) + (=x +1)]
=(x* =X F)Q (x4 —Ax 3 =(X*-x+DQ(X)+3x*-7x+4
=(X*=x+D)Q(X) +3(x* = x+1) +(—4x+1) =(x* —-x ¥)Q (x 9
FEL (X* =%+ X2 = x+1) f () =[x*(x* =x+1D) + (—x+D]f (x)
=X*(X* =x+D F(X)+ (=x+1D) f(x)
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=X( X*— x¥) f(® A xfF1XEF(x+ Q
=(xX*— ¥ 1)+ & 9d X+ =(*-x+DQ"(X)+4(X*—x+1)+(—x-3)

=(x* -x ¥)Q' (x4

. “FH E:3x-2y+2z=5, ?:(3,—2,1)LE. n

(1) 3x -2y + 2 =LERE N, =(3,- 2,10/ n = F(TE .
(2)Fifi x—2y+3z =035 A& N, =(1,-2,3),

o, =3-21-(L-23)=3+4+3%0, EHERHPEEZHEOMHEL .

2x-y—-z=1 —
(3)7@1@%{ T M EER A, = (2 8,7)
X+2y+2=2

—a:p e Il D R T
a fiy= : : =1:-3:5,
PZloo1l Tl o1 h 2

BV, =(L-3,5), HYHUD , iU ESETEYETHEL .

A)E& x=t+2, y=2t-3, z=t+1, teR, HAMEEV, =L2)W n , FFUFE .

_1 2 —_ —_
(5)Eé%§=y—=z%, HEERY, =G -2/ .

-2
WA (B) & PRt .

: T%\/X2+y2+\/”(x+6)2+(y—8)2 =1€, A
—fEBEF(0,0), F,(-6,8), 2a=16 AN,
:{a:S 7 >

RF,=2c=10=c=5

=b’=a’-c*=64-25=39,
K5 FF, =PF, +PF, —2PF, xPF,cos60°,

(@*=s) PH ,PF) ,2R F —P_I?%x R KkK? P(F2

= 3PF, x PF, = (2a)? — (2¢)? = 4(a — ¢?) = 4x39 = PF, x PF, =4x13,

/\ FPF, @%:%P_leP_Fzsin 60° = %x4x13x§ ~133 .
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6.

£ (x) = 5x (x—23)(x—27) 12 (x—=2D)(x—27) +30x (x—21)(x—23) ,
(21-23)(21-27) (23-21)(23-27) (27 -21)(27-23)

Fox f(21)=5, f(23)=12, f(27)=30,

Why=f(x)Ey=9g(x) B 8L, 73A4E x=2181x=23

=0g(2) = f(21)=5H g(23)= f(23) =12, X g(19)=3

(x—21)(x—23) LB (x—=19)(x—23) 12 (x—19)(x—21)

(19-21)(29-23) (21-19)(21-23) (23-19)(23-21)

(27 -21)(27 -23) e (27 -19)(27 - 23) 12x (27-19)(27-21)

(-2)(-4) 2% (-2) 4x2
6x 4 8 4

=3 5 5 < 42 =9 —4 0+ 7, #iE@Q).

Ry 9 Ry —_ .
DFE L PB B, ZERA, B, P@B

BC B, VIEIRC, ¢

= g(x) =3x

= g(27) =3x

il PAx PB= PC =100= PC=10 .

L
QEHLEEFHE, FHERS, )f -
N SCLPC, fRig=muEm, /o<é /
RC LPC, HSC=[EP¥#4, RS=3, c
FiLLRC =3 +42 =5, X PC=10, FillPR=\PC +RC =\125=5\5 .
HUB(2) .

-~ 5EH:

8.

S EEEP(X, ), AL2), B(-1L-2), C(L-2).

(1) J(X=1)% +(y—2)? =2/(x+1)?+(y+2)* = PA=2PB ,
R B PA=KPB, k=10, PHy#ibng—E .

12 2 _|y_ _ 5 IXx=y+2]
@)J(x-D?+(y+2)? =|x-y+2|=+2 5

LBy x—y+2=0=PC =+2d(P, L) JEHi4n thIF E 43 .

@) Jx D2+ (yr 27 = XT3 s xoy-3=0 ,
\/E L
C

=PC=d(P,L), [HC%TEL |,

T AP Ry it C BEG 8L L S LAY E 4R .
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@) |J(x=1? +(y-2)? —J(x+1*+(y+2)* |=2\B

—=|PA-PB|=2\5, {2 AB=2\5, FiLLE & 545 .

- e
R A

(5) [(x=D? +(y-2)* —(x+1)?+(y+2)’ |=0=| PA-PB|=0

= PA=PB = P{J#l i & AB & B SF57 45

3£ (3)(5) -
9. (1) y=f(x)=log,(x+2) FyiE3a L, , 1r=e®
x=—2 4 y=x

FiiLly=2014 8y = f (x) B0 5
(2)y=f() 8l y=g(x) B G HHEHEELR y=X,
R x+2=0%y=f(X) KBTI,
FITLLy+2=0%y y = g(x) AIM 4T 457 2o e
=y=g(X) & y+2=0FMH% .
(3)61 7 f (-1 =log,(-1+2) = log,1=0,
Frll f(=Dx f @Mx f (8)x---x f (103)= I.

AHD @y

—a—y=x

y=f(x)

g

HEEL (0, %)

@(g(4), 4 =(x f(x),
& f(X)=4=log,(x+2)

=3 =x+ 2x=

=g( &)
(5)y=f(x) EFME T, faogsif Coet®
. f(log4l | 5 (flog4) + f(log16))
FH & A E(f(|094}Ff (log16)x f (log¢ logé | TogI6
= f(log4)+ f (log16) < 2f (log8) . 5 (og4+1og16)= og4 =logs
(1) (2)(4) .
R R - ;
10. (1)(2) —x=2, y=4 .
R R R — = ©
6+X+y 6

FISLL~ 21 ~ 3MERHT
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261+ 4 BAERH &

000000 O O O 000 64 —4HHIHAM 2194 BAEEHS] 2 1
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OO0 640~ 219 - 4 BATEHH 120 132
612141
(5) P (SEEREL (I BRJEHENSE) =P (2 (3 4 2 ?ﬁﬁyqﬂgﬁz)_%:%

U5 (2)(4)(5) -
11. L:J§x—y+2:0 .

(L)ax+by+c=0, #b=0, EUE%%#%?%—%:mm@-

_ 2 _ 2 _
(2)m:tan¢9ﬂcoszq9:1 tan249:1 m2:1 3:_3:_3,
1+tan“@d 1+m~ 1+3 4 2

(3){cos€ —sin@}”_{cosn@ —sinn@} {cos@ sine}”_{cosne sinne}

sind cosd sinn@ cosnd |~ | —sin@ cos@ —sinnd cosné |’

q cosd sing "¢ cosngd sinng
sinn@ -—cosn@

} , ATELB) AL .

| sin@ —cosé

(4)sin20 = 2tand 2\/_ \/_
1+tan’0 4 2
1 B -1 B-1 B
T2 o 2 22 2] 10

3P222,P2:2222:[ }:I
NERS NERE R NCIE S
2 2 2 2]2 2

=P’=P’P=IP=P=P*=1, P°=P .

(B)P+P*+P°+--+PY=P+1+P+1+---+P+I

—5(P+1)=5 -5 = . HUE)(4)(5) .
J3 1 V33| |53 15
—+0 —=+1 — = — —
2 2 2 2 2 2

12. (1) AB - AC =| AB|| AC | cos(e + 3) =5><13cos(a+ﬁ)=—39:cos(a+ﬂ)=—§ ,

7 . 24 3 . 4
‘Hcosa=— =sina=— H cos(a+ B)=—, sin(a+/p)=—,
{ o 25E (a+p) E (a+p) z

Ll cosp=cos[e+ B )y a]= cosée+ 8 )cose+ sing+ B )sin
—3 s 4 24 75 _3
5 25 5 25 125 5 °
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AD - AC =| AD || AC |cos # =15x13x > =117 L
@) 75 — AD-AC>AD-AB .
AD- AB =| AD|| AB| coser =15x5x - =21

-~ AD- AB =x|AB[ +yAB- AC
(3)(4) AD = x AB+ y AC =

—

AD-AC =xAB-AC+Yy|AC P

21=25x-39 25x -39y =21
= Y = ) NOEOES=3
117 =-39x+169y 39x-169y =-117
1 — . 24
°) P = AACP "1 4713’ ,,Dn ¢
2

13- AP - sm,B 13 c

.~ 13 — 6 — 13— 6 -—
3 BE SR = AP = AB+ C-T"AB> AC.
FRIZITHRIAA 6+13  6+13 19 19

HU5(2)(3)(5) -
13. (1) y 6 x W EER EL LR B y =1 - —x+k—§x+20

«f Z(y. ,)°
ol S = 2oy A1 2
o, 8
e

3 N 3
(2)y=ZX+ZOEé%M\@z@(uX, Hy) = ,uy=Z,uX+20

Il
-
N W
=
Il
N~

=>u =%><64+20:48+20:68 .

y

QIEEEER Y X VEEFES R Y =X, Nyo,=0,=1

@o,=r <o, =1—fﬁ NP i e L

(6) 2 = it = 5 < LRI R €
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FREA D EEE

X, —2X,+3%; Y, —2Y,+3y, z,—22,+3Z, 1 -2 3|x Vv, 1z
A. 22X, — X, 2y, — Y, 22, -1, X=12 0 -1/|x, vy, z,|X,
X +FX,+X 3y, +Y,+Y, 3Z,+7Z,+17, 3 1 1|X Yy 1z
X Y 4 3] 1 -2 3|[x % 7
HEH|X, ¥V, ,|X=|2|=2 0 -1||X, Yy, Z,|X
X3 Ys  Z3 _1_ 3 1 1 X3 Ys 23
1 -2 3|3 41 [a
=12 0 1|2 |=|7|=|b|=(aDb,cc)=(47,10) .
3 1 1(|-1 10| |c

B. sxfif-RBRK. fEXEK. #hEk. WEKOEHES /X, v, z, uff
= X+y+z+u=50, {Hx>10, y>10, z>0, u=>0
=x-10>0, y-10>0, £ x'=x-10>0, y=y-10>0=x=x+10, y=y +10,
SoX 4104y +104+z+u=50=>Xx"+y' +z+u=30,
Hix'20, y20, z20, u>0HVIEREEHE

B HL —CHOI_CB_C®=C, #(m,n)=(3,33).

—_ 2 1 —
C. (axb)-C:(‘_l j,l j,

T+ Y )P+ + (D)) > (x+y—2)?,

-1 2
) _1‘)-(x, V.2 =(3.3-3)-(x ¥, 2)=3x+y~2)

Ex+y?+2°=6 =6x3>(x+y—2)? =>-32<x+y-z<3J2,

g

| x

P <

=i1:t:>X=t, y:ta Z=—tE§‘,
Uy P =623 =6t=12, ETt=\V21, (x,y,2)= 22~V 2,

(axD)- ¢ =3@V2) =02 ik, i ¢ =(2,V2,-V2).
D. a,=1+1+2)+(1+2+3)+:--+(1+2+---+10)

10
=1><10+2><9+3><8+---+1ox1:Zk(ll—k):M
k=1
:i=L=6x;=6xl( t 1 )=3( t 1 ),
a, 10x11x12 10x11x12 2 10x11 11x12 10x11 11x12
ag:1+(1+2)+---+(1+2+---+9):—9X1o><11:>i:3(—1 1 ),

a, 9x10 10x11
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1 1 1 1 1 1 1

T —+—+---+—=3 - +3( +-- +3¢€
SRR = a a a, 2 2:3 s e Qoc11 1 12
Sy NN NN 1
1x2 2><\3\ 2x3, 3><\4\ 10xN, 11x12
1 6 5
=3y —  )=3x , i 44,65 .
XT3 - 3p (P, q)=(

E. {REETEC*-mC)+m-nC,/+n=57 =66-3n+m-6n+n=57

=2m+5n=9, mneN, #HEM=2, n=1=m+n=3 .
F. &REF&EER, ZACD=6 .

AB _

(1)/\ ABC = : 2R:>l_2R:2R 25
sina e
25
(2)/\ ADC = : C_:—D=2R:>E)=25
sing 3
5
I~ 3
:>CD=25><E:15 .
(3)'." AD=CD=15=60=4
3 4 24
= sin ZADC =sin(180°—-24) =sin24 = 2sin fcos § = 2><5><g:g

G. log,a+2log,b—-3log,c=4= Iog2a+§|ogzb—3x(—%)logzc=4

8

= log,a+log,b+log,c=4 = log,abc =4 = abc =2* =16,

{Ha=1log,9=2log,3, b=log,x, c:log£49:%Iogs7:4logs7

2

= (2log;, 3)(log, x)(4log; 7) =16 = 8(log, X)(log, R)(log, x) =16

—8log; x=16 = log; x=2=x=5°=25 .
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